	Maths Friday 26.06.2020
If you do not have a printer, this can be done on paper
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1) Greg i explaining what this grid shows.
s he correct? Explain your answer.

There are two columns

and one row shadad which
reprasenss yor 3

=
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2) What is missing? Explain your reasoning
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3) Who has the most? Explain your answer. Can you
use a diagram to explain?

Dylan
J‘ T have sixty eight hundredths.

Roisin

1 have sight hundredths g
and six tenths.

1) Greg i explaining what this grid shows.
s he correct? Explain your answer.

There are two columns

and one row shaded which

reprasenss or 3

2) What is missing? Explain your reasoning

3) Who has the most? Explain your answer. Can you
use a diagram to explain?
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2) Shade the grid and circle the answers that match

the statement:
70 squares shaded is the same as:
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2) Shade the grid and circle the answers that match
the statement:
70 squares shaded is the same as:

3) Complete the part-whole model

4) Draw part-whole models to partition these fractions
into tenths and hundredths

) 95 hundredths

b) 30 hundredths
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3) Complete the part-whole model

4) Draw part-whole models to partition these fractions
into tenths and hundredths.

) 95 hundredths

b) 30 hundredths
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